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Eecursive Sequence Prac’ri@

1) Find the first four terms of the recursive sequence defined

below. _ 3
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Use the recursive sequence defined below to express the next three terms as

fracE'ons reduc@to lowest terms.
‘ —
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The Pell numbers can be defined recursively by the formula. \

p(n)-2p(n-1)+p(n-2). If p(1)-0, and p(2)-1, then what is the value of p(6)?
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If f(1)-3 and f(n)--2f(n-1), then what is the valugg a Cg
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While experimenting with her calculator, Candy
creates the sequence 4, 9, 19, 39, 79, .... Write a
recursive formula for Candy's sequence.
Determine the eighth term in Candy's sequence.
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